Name:  _____________________________ (please print)

Signature: __________________________

ECE 3455 -- Quiz #3

June 15, 2000

1.  This quiz is open book, open notes.

2.  Show all work on these pages.  Show all work necessary to complete the problem.  If you go on to another page, indicate clearly where your work can be found.  A solution without the work shown will receive no credit.

3.  Show all units in expressions and figures.  Units in the quiz will be included between square brackets.

4.  Do not use red ink.

5.  You will have 30 minutes to work on this quiz.

________________/20

Room for extra work

Assume ideal op amps.  Find the voltage gains vo1/vi, and vo2/vi.
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 ECE 3455 -- Quiz #3 – June 15, 2000 --  Shattuck Section - Solution

Assume ideal op amps.  Find the voltage gains vo1/vi, and vo2/vi.

[image: image2.png]391k 270 k3
2.2k
19¢ 2 [k

e U-L‘ | 1<ﬂ.3 .

H ]

= Y4.7kn)

O »
Io<;~]-




First, we note that all the op amps have negative feedback, and that therefore there will be a virtual short at each input.  This allows us to mark up the voltages as shown in the figure below.
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Note that i1 is zero because no current enters the noninverting input of the op amp.  For a similar reason, i2 is zero.  Then, by the virtual short, we have vi appearing at the inverting input of the top left op amp, and ground at the inverting input of the lower left op amp.  Finally, the currents labelled i3 are all equal because there is no current in the inverting input of the op amps.  This leads to the solution that follows.
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